AJMAL NATIONAL TALENT SEARCH (ANTS) EXAMINATION - 2013
CLASS: VIl

Time : 2 Hours / 5% 8 2 51 Full Marks / 5% %< / (NG =199 3 (25+25+25+25)=100

General Knowledge / HA4I<e &I« / A @&l

In'Jonbeel Mela' the king of the ..................... community collects revenue from the mela.

(STRET (FT® ................ MRRE TSTE (AT 9] F-PIBT FR2T A |

(SRS (BT ... SRV ST (el (/P B L8R B |

(A) Karbi (B) Tiwa (C) Khasi (D) Bodo
I foa / fosam Il ol

Which of the following is not a Shopping Mall ?
T CPICE! WP NS AR 2/ [ (@A HiogNe 7 2
(A) BigBazaar (B) Vishal Mega Mart (C) NEDFiHaat (D) Metro Bazaar
el qrenR / o1 Arera R{TeT CeirsG @O 26 GG ST / (T Mt

The five year plan that began in 2012 in India.

2012 5© OO0 HTF (I 2/ 2L ARFHAIG! TR oo |

2012 (Y SR AR &N LM AP 2T oo |

(A) TenthFive YearPlan (B) EleventhFive YearPlan  (C) Twelfth Five Year Plan (D) Thirteenth Five Year Plan
VAN ST AR G S 21T A qive o[ AR Q@ 2l SAf s
TN AT ARSI QI SN oA qv AN AP @ 2L Al

The service ‘Mrityunjoy' is available in the number :

TG ORI THO THATH |/ JOIGH T o THE TR |

(A) 100 (B) 104 (C) 106 (D) 108

'‘President's Rule' was imposed in Assam for :

ST FETS * P S 41 @R ... |/ ST oI =P orifd 1 2 ... |

(A) Two Times (B) Three Times (C) FourTimes (D) SixTimes
LSLRARL fofaaa / fomam CISRISWATESIES 2N [ R

LRI R IR G— Sl A |/ IR SN SO SRA Sl 2T |

(A) Bank (B) the hands of the Prime Minister
(S | [T LY TE RO / YT TF RS

(C) Treasury (D) the hands of the Finance Minister
(PSS / (RIS e @ zree / e W@ 20

Radio waves are found inthe ....................

QG =R ..o S CAIT AR |/ (AOG OF ..o IR

(A) lonosphere (B) Troposphere (C) Stratosphere (D) Thermosphere

I B I B PIsR | IomE E'SF | CIoEE N /| AR



10.

11.

12.

13.

14.

-2.

The density of population is highest in the district of ................

............................ T G IR e HOIRAF @R / ... TSR SRR TG HIBIECS (AT |

(A) Nagaon (B) Kamrup (Metro) (C) Dhubri (D) Barpeta
Jsie N (N=5R) Skl BR(ElD)
Jsie BN (CCFT) SGl RElG)

The Sanskrit Grammar 'Mahabhasya' was written by :

TREO P RGP .o o1 BRI | / TR [ TG 0N T o |

(A) Panini (B) Patanjali (C) Kalidasa (D) Vedavyasa
e oAl et &% T

The Mughal Emperor who had a Mobile Library was :

CPITGT (15T HHGT RO 2T ST 2 / T TG o @ AT SIS =T |

(A) Humayun (B) Akbar (C) Jahangir (D) Shahjahan
BRI P [ A SRS / SIRIAS RIRGIEE

The only country whose postage stamps do not feature the name of the country issuing them :
~JfA< aNG o, T T B0 (T W SR 1R |
=Jf e @ia o), T O e omifog S S (72|
(A) Russia (B) Great Britain (C) Iceland (D) USA
<R3 / i calb faebe SIEHETS | SAEACETC S JE1E /ST TG

The Nobel Prize Winner, born in Shantiniketan was ................

([ FIFom® Sl 21ZeT 1 (T 61 KGR .o |
=% NFOE & RGN (ST SFHR RETH ZET o |
(A) Subramanyam Chandrasekhar (B) Rabindranath Tagore
TR BUCIRT / SN G IR 21T / AL 1A
(C) Muhammad Yunus (D) Amartya Sen
PRIV BT [ NRHEM RGP SRiofesy

The ancient kingdom 'Golconda' is presently in the state of ....................

SPOIGTE (SETRE] JIST TOAM ..o TGS SRS | / 2AbTel SIETRST ST IO ... BICIASRIE SR
(A) Andhra Pradesh (B) Karnataka (C) Kerala (D) Tamilnadu
S A0 ofio (I / (=T NG

ES

In India while filling up the forms for which of these we have to declare our assets ?
CROS (FAI &f-91@ 7 P10 e Fifeq fKgael fu =iest 2
RS (FI S1-2[@ #[7 S0 s Fifed K=ol fee =3 2

(A) Election Nomination (B) DrivingLicence (C) Examination Form (D) Passport Application
[ESICSICRGICEC RaT] BETR el @ SIS -ofd A G AN

IBEIGER(QIREE Rl TIEfSE ARETT NI TH AR @



15.

16.

17.

18.

19.

20.

21.

22.

The introductory page of a website is known as :

RRZE6T ALY (HESDIP ................. QIET | | SRRARG AL NGO ... @
(A) Office Page (B) Home Page (C) Main Page (D) Gym Page
IS (2207 / ST (ST (I (oIS (V& (o1get T oo

Chemotherapy is mainly used to treat the disease of :
.......................... 7 BT AR 2K (@ (RSN IR 391 2F |
......................... Gl PR Sy (IR 5R=IF 1 27 |

(A) AIDS (B) TB (C) Cancer (D) Polio

G2 / @3T ofar / = 6 (19 /| IO siferer / siferg
Vodafone India on November 8, 2012 signed an agreement with ............. to launch a mobile payment service.
2012 579 8 WS W< SOl SR (NI et SARCINY GRIT AR T =157 bfe T 0 |
8 WCoHT, 2012 (9 (OTCIT BT (NI [KeT ARCIE CIRIT T o @3 A bie e |

(A) 0 (B) @ (©) 0 (D) q

The Best Film Award in Oscar, 2013 was awarded to .....................

2013 5® Y QTR SR (oAl (ETRRIT TR o |

2013 T IR TR \'u-iém @¥ < R RS | R R —— NG
(A) Life of Pi (B) Argo (C) Lincoln (D) Skyfall
I8P O AR/ AT O AN T oty / ferepey RIZF | BT

The first Indian to win Grammy Lifetime Achievement Award in 2013

2013 579 (I SRERET AT I61 77S 1 LALATGH GO 2R o |

2013 3¢ 2/ OIS AN G Froces oI 2FRIE TS T T o |

(A) Pt. Ravi Shankar (B) AshaBhonsle (C) A.R.Rahman (D) None of these
~[f&s® Ff< =P S ST @, K. - @Bre 'Y
SIRECIE LIRS ST (ST @, I =R GBS T

If BEHK : YVSP, then ADGJ : ?
It BEHK : YVSP 33 (o ADGJ : ? / ¥w BEHK : YVSP 33 ©®& ADGJ : ?

(A) ZUTR (B) ZUSP (C) zZwWTQ (D) ZWXZ

The 150" Birth Anniversary of .................... is celebrated in 2013.

2013 5O ... T 15099 GAl-Sr%! 2Ale 91 =¥ |/ 2013 A ... G Gl Ao AT T 2T |

(A) Netaji S.C. Bose (B) SwamiVivekananda (C) Mahatma Gandhi (D) None of these
(VOIS O 5% (1T = Rt BRI ) GG TR/ (PRE

Fibre dietincludes:

L ST AAS ........... Q| / S SO AT o T |

(A) glycogen (B) proteins (C) cellulose (D) fats

BT / RIS oo / cerrfom BT | CTefeTen o



23. The soap 'Fiama Di WILLS'is a product of :

“fret £ BT FIN SRR o BN Besifrs T |
‘R 8 CET TR ..o @RI Seifrs = |
(A) /,& (©) ﬁ? (D) Pc@

ITC Limited

24.  Which of the following is not an official language of the UNO ?
ST (PICG! FETT bIPIST Ol A=Y 2 / NH (@I AERET AP Sl 7 2

(A) English (B) French (C) Chinese (D) Japanese
2G2S 00! / T CIal GrioflT
25. The country where military service is compulsory for women :
PN (T fEeT I AR CIRI AT 2/ NIRRT ST AL G e (M LTS |
(A) Japan (B) Israel (C) Cuba (D) Palestine
ST BGIES | TSI et R

General English

Fill in the dotted space with appropriate forms of the verbs ;

26. Ml you, | ..oooooiinins agree to the proposal.

(A) was, will not (B) were, would not. (C) am, should not (D) can be, shall not
27. Theconvictcould notbe .......cccc....... because the hangman was absent.

(A) hung (B) hanged (C) hang (D) hanging
28. Yes, My brother goes......cc....ce.... with me.

(A) allover (B) anywhere (C) somewhere (D) everywhere
29. Agoodteacherteaches.................. example.

(A) with (B) on (C) under (D) by
30. Maylgiveyou ...ccceevuunnnene. advice?

(A) an (B) some (C) little (D) one
31. Thecartwasdriven ......cccuuue.... bullocks.

(A) with (B) off (C) to (D) by

Pick out the correct sentence :
32. (A) The cattle are grazing in the field. (B) The cattle is grazing in the field.
(C) The cattles are grazing in the field. (D) The cattles is grazing in the field.



33.

34.

35.

36.

37.

38.

39.

40.

(A) Hundred miles is a long distance (B) A hundred miles is long distance.

(C) Ahundred miles are a long distance (D) Hundreds mile are a long distance.
Thispenis ..ccceeiennnns than the one I have in my school bag.

(A) worst (B) worse (C) more bad (D) quite worst
The dogtook NO ...evveerernnnees the meat.

(A) notice of (B) notice-about (C) notice from (D) noticeto
My tuitor .....evverennnnn. several points before the exams.

(A) cleared off (B) cleared away (C) cleared up (D) cleared out
A is a person who has taken an apartment or a house on rent.

(A) Landlord (B) house guest (C) tenant (D) host

Grapes are growninthe ..................

(A) churchyard (B) orchard (C) vineyard (D) dockyard
Some of you are learning French, .....ccccooee..e.. ?
(A) aresome? (B) areyou? (C) aren'tsome? (D) aren'tyou?

The given sentence in Direct Narration has four choices in Indirect Narration. Choose the correct one.
He said, " | must go now".

(A) He said that he must go then. (B) He said that he had to go then.

(C) He said he must go now. (D) He said that he had to go now.

The given sentece in indirect narration has four choices in direct narration Choose the correct one :

41.

42.

43.

44,

She advised me not to trust him

(A) She saidto me, " Not trust you". (B) She saidto me, " Never to trust him".
(C) She saidto me, "Do not be trust by him". (D) She said to me, " Do not trust him"
The Latin phrase ‘inter alia’means .........ccc...... in English.

(A) inthe middle (B) inbetween (C) amongotherthings (D) inthe whole

The sentence below in active voice when changed to passive voice will read :

"Darjeeling grows tea".
(A) Lettheteabe grownin Darjeeling (B) Teais being grown in Darjeeling.
(C) Teagrowsin Darjeeling. (D) Teais grown in Darjeeling.

The sentence below in passive voice when changed to active voice will read :

"She is said to be a liar."
(A) ltissaidthat sheis aliar. (B) People say that she is a liar.
(C) Thatsheisaliaris said by all. (D) She said him a liar.



45.

46.

47.

48.

49.
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An office without salary is called ..................
(A) voluntary (B) gratis (C) philanthropy (D) honorary

Pick up the appropriate word which is similar in meaning to the jtalicized word in the given sentence :
"Grandfather has been getting feeble of late."
(A) Small (B) diseased (C) weak (D) angry.

Fill in the blanks with a word opposite in meaning to the word given in bold italics.
Man proposes but God ..................
(A) Supposes (B) opposes (C) disposes (D) juxtaposes

Our school carried the day in the Inter-school-cricket tournament. The meaning of the idiom in italics iS .....cccveeernnnns
(A) Lostthetournament (B) Asked another day to play as the players were not available.
(C) Stood second and won the runners up trophy. (D) Won the tournament

Glacieristo Ice aS ....ccoevveueenn. is to Water.
(A) river (B) sea (C) rain (D) flood

Dog is to Faithfulness as FOXiStO ..ccccceerevnnnen.
(A) intelligence (B) cunningness (C) alertness (D) dullness

General Maths / Figi<e sifere / sigige sife

»
2+ ll = s az
3+—l
1+=
4
A L (B) (C) (D) None of these
«bIe %Y / @IS T
The next number of the sequence 1,3,6,10................. is:
1,3,6,10 T *E! DI T ... | /1,3,6,10 @ *<ETIbR 7T AL A ... |
(A) 12 (B) 16 (C) 15 (D) None of these
b8 %Y / @IS T

Asha and Usha shared a pizza. If Ashaate of the Pizza and Usha ate  of the Pizza then how much Pizza
was left ?

S S BT @O et @ wike W o] I, i eree e i «ifeq 2

I @8 TR @0 ST @A ] <A A, PIere FopP ks I AR 2

(A) (B) © (D) None of these
@ble 7= / a8




54.

55.

56.

57.

58.

59.

60.

-7-

If 0.111is approximately equal to , then the approximate value of 0.333is ..........cc.........
MW 0.111 7 =PE I 2 (96 0.333 T OPH I LA ... |
W 0.111 @9 SPH WH 27 O 0.333 A7 S NF B ..o

(A) (B) (&) (D) None of these
@ble =W / @b
(A) 45.3356 (B) 45.3256 (C) 44.3456 (D) 44.3356

4 is added to a number and the sum is multiplied by 5. If 20 is subtracted from the product and the difference
is divided by 8, the result is equal to 10. Find the number.

@BI LIS 3157 4 (191 B EIFEF 5 (7 < 91 | qiw S[<eeTCoI< 21 20 Rens! S REsw=16< 8 (3 299 941 27
(O3 TeCO! 10 = | FRIC! ez 541 |

@p(l AL A 4 (19 B T 5 W 2[00l i 1 A ofereeT (er 20 [enst v R 8 e ors w1 =1
O Tedft 10 2 | 7efe o7 w4 |

(A) 16 (B) 12 (C) 8 (D) 120

The ratio of two numbers is a:b. If one of them is x then otheris ..................
B! R AT a:b, T @B AT R (O D! HEL . |
i AL ST a:b, I @6 M 2F O oAl =@

(A) (B) (©) (D)

In the adjoining figure, itis given that Z/A=60°, ECIIBA and ZECD=65"then ZACB-=.................
e w3l foaw LA=60°, ECIIBA 5wt L/ECD=65"%3 (58 L/ACB=........c............
fota LA=60°, ECIIBA @3) LECD=65"(wsql 9tz | LACB="?

(A) 60° (B) 55°

In a right angled triangle, the circumradius is half of the .............

STHCPIA fager AR ..o T |/ A GG ARG oo @ o |

(A) perimeter (B) hypotenuse (C) area (D) None of these
AT / SAfsi f pifer @ble =W / Gb8 T

if x is simple interest ony and y is the simple interest on z, the rate percent and time being the same in both

(A) x2=yz (B) (C) (D) None of these
@51 = / @8



61.

62.

63.

64.

65.

66.

-8-

One litre of water is mixed with 3 litres of sugar solution containing 4% of sugar. What is the % of sugar in the
solution ?

3 ol6 4% (< w1 =1o1e @ TG /11 =l SRET w=Rbhe (bfaa =rewsa sifasie e 2°3 2

3 Toio o= 9@ 4% B =R | 221 @ FI6R St il wQiboe biRg *re<sa #ifsid 3o 2= 2

(A) 4% (B) 3% (C) 6% (D) None of these

@abl8 7Y / QFH8 T
The average of the middle two rational numbersis , , , arearrangedinascendingorderis.................
M, T HET MR T (0T BT FT 2K (o T BT e |
I, (T S AEIEH] JF, OE@ ZRIF NS! AT BH G B e |
(A) (B) © (D) None of these

b8 7Y / 938 T

If the two legs of a right angled triangle are equal and the square of the hypotenuse is 100 then the length of
eachlegis.............
@51 NI flager A1z qo1 AW AN 27 Wi 71 750 100 B (96 2AfS00! 12T ORT B'T e |
@G NI fagrers = 76 A ST 27 @< eefd 951 100 =¥ O 2ifofb I=d 0 TR o |
(A) 10 (B) (&) (D) None of these
@ble 7= / a8 7

The area of the largest triangle that can be inscribed in a semi-circle whose radiusis is.................
JPILYE IABIRSCS Tl e faqges FIfe

APTRS FBIECS J2R T eE fagred Fife

(A) (B) (D)
If then X iS ...ccovevveiieeenn, DX D
27

I EEEAC A S—

R LRSI —

(A) arationalnumber  (B) notarational number (@) an integer (D) a natural number
@B AT 2! @B AT T2 F= @B =& AL @b FeIfgs ALl
G(b AT 737 G(b AR 72 F7 G0 @S LT Gl> FSIe 374N

In the following figure, ABCD is a parallelogram. DLLAB and AB=AD=13m. If the area of parallelogram is
156m?. Find AL.

weTo fral fo@s ABCD @b g« I@ DLLAB St AB=AD=13 35/ | I SI<ER Fife1 156 F5f (5 23 (o6
AL ez 41 |

e we3l fora ABCD @3fb sefss 9@ DLLAB @3k AB=AD=13 it | 3t Ar=fzces 11 156 3of b =3, ©@
AL @3 NI el <91 |

(A) 5m (D) (B) 6m (&) (C) 7m D) (D) 8m (f)



-9-
67. Write the following algebraic expression in ascending order.

1o Il qrersiferely IfHIEIE SeeTe ol |/ Sk Aeeiferery b Siam o2 |

(A) (B) 4-8x-6.8x2+0.4x8-1.7x10
(C) —1.7x10_04x8-6.8x2+4 (D) None of these (4518 727 / @FH'S F)
68.
J5
A - (B) (©) (D)
69. Afactor of (S
JORIAA ... |/ G TRAU ...
(A) a (B) b (C) (D)
70. If each side of a cube is doubled, its volume .............
@b I AfSCBT A2 N9 (DT BT ZIF SAG .o Bl
@b TR elfofls A= Mo T 1 JE TRIF A ... 2|
(A) isdoubled (B) becomes 4 times (C) becomes 6 times (D) becomes 8times
e 49 6@ Bad

71.  Which of the following statements is false ?

ST (PN B gl 2 / Novd I Sfies ey 2

(A) (-1)"=-1, If nis odd integer (B) forany rational number x, x°=1
(-1)"= -1 n QBT =YY TS AL = RPIET SRR R4 x T CFas, x°=1
(-1)"= -1 n @61 Se SRS R T QI AR R X @7 @, x°=1

(C) If 4x8™ = 2° then m=1 (D) None of these
4x8™ = 2° 2T (96T m=1 REE B 00 1 1.0 7.8x2 + 4-ox
Ix8™ = 2 28 W e @6 gizme s,

72. A positive number is by mistake divided by 6 instead of being multiplied by 6. What is the % error (approximately) ?
@BT LGP R 6 (I 5[ K AN 95T %S 6 (I 299 BN R | G2 (09 X< o9 SR N P 2'9 2
QB YIGP ALAE 6 T 7 TR MET QoA 6 WE ©lel 1 %o | @B C( *0Fe] GETR AP A F© (I ?

(A) 3 (B) 97 (C) 83 (D) None of these
@bre 2T/ GFioe T7
73. Twocircles are congruent, if they have same .................
ST 27 |
N R |
(A) area (B) circumference (C) radius (D) None of these
pifer AT / St BiEIE @bl 7= / @lbe T

74. Find the time taken by train 180 m long running at 72 km/hr in crossing an electric pole.
5o 72 R ool ol 2=pt 180 BT HiweT (7 SMEIc fReyail Y01 @bl Sifoers eaics e s7 =iifarq 2
o1 72 el ol betce Qpt 180 Bt (el @bt (amifioss Y6 oo S0 I TTISNE o |
(A) 8sec (@/(1) (B) 9 sec (cz/N) (C) 10sec (®/31) (D) 12 sec (/1)




75.

76.

77.

78.

79.

80.

81.

82.
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Instruments used to draw a pair of parallel lines are ..............

QI ST (@2 DR FRECE IR I el (27T ...

GRCSTo] AT (TR DRFY FACO IR PN R s |

(A) protractorandscale (B) compassandscale (C) setsquare andscale (D) None of these
(PRI T W1 (T Y I R (2 FAR W CFeT @ble =T
CRIN TG G<R (FeT PP @R (FeT 6 CEIR @R & aFoe 7

General Science / Fgge fqeaie / e e

.......................... measures the distance covered by a vehicle.

.............................. T G AR G AGFT S AIF (SR T/ . A GG TRETT OGN 1 (9 AT 2|
(A) speedometer (B) odometer (C) galvano meter (D) None of these
e’ oI/ Ftelfo™ SICEROE S (DIRIAE sffeTee NER/STRTSEINGE @bl 723/ 908 73

Which of the following does not show oscillatory motion ?
T (PINCIE e 51 (NI 2 / o (I e oifo o =1 2

(A) Swing (B) Fan (C) See-saw (D) Pendulum
7o/ Rl &= GRS / (bfPeTT® T
The liquid which is a good conductor of heat is ..............
SRR R S RISIACICIEC R R— IVASI b s 1E S G T |
(A) water (B) hydrogen (C) mercury (D) kerosene
AT/ Sl RIEGCS SIS/ S @A / I
Convection of heat takes placein ................
H/fETT 7 IO FALEH ... T (O 2T | / SARBRTER I SR HLE ... 0 ] |
(A) metalsonly (B) liquids only (C) gasesonly (D) liquids and gas only
(&gl W (PLET oFeT (LT (oI (T OFeT I (o)
By 4o By ST By oI By O @ E
We can create enlarged, virtual images with ........................
.......................... 7 vERS Rafs, ooTe efefa s i@ oif 1 /.. @3 TR 3, ITR SISl 910w Face ¥ |
(A) convex mirrors (B) concave mirrors (C) plane mirrors (D) concave lens

Tee wieoNlel / Tae wofel SR WA [ Do wofel IR WISl [ STaoet wofel  SRNe (F1R / SIoAT (517

If the angle of incidence is 50°, then calculate the angle between the incidence ray and the reflected ray.
it Srofew (Fle A 50°2F (S Aioifow 7Y S eifswriene R o™ e ey 341 |

It S (@R T 50°2F R weifow IR @2 eifowlers af@ e @l e w1

(A) 50° (B) 100° (C) 130° (D) 80°

The longer thinner line in the symbol of a cell denotes ..............
e (1aT o W9e o @RIR o < e |/ Rpe (s ooz o7& QBT G- ¢ I |
(A) the positive terminal (B) the negative terminal (C) the direction of current (D) All of these
LY 2l RIS oRIRS uxl / eRIEs s OICRED! / MG




83.

84.

85.

86.

87.

88.

89.

90.

91.
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Which of the following is not a chemical change ?

SR (PG IR If[ET 727 2 / v (@A IR A6 737 2

(A) Digestion of food (B) Rusting of iron (C) Burning of paper (D) None of these
WIS B (SIS NI &1 PIoTeT 7R B @Bre 'Y
I AT GIRERIEN R oISt I GE R
Phenolphthalein turns ............... in acidic and neutral solutions.
(FeT(AfeT T 79 SIfHP AF 2 BHO ... 2|/ (TR I SAMHE QR 2T T(F ..o Rl
(A) colourless (B) pink (C) red (D) green
ORI / R QTN / CoeTIon 61 / e GO / STt

Which of the following is a neutralisation reaction ?
TR CPICET e R 2 / oS (Pefh e aifer 2

(A) NaZO + HZO — 2NaOH (B) 4Na + O2 - 2Na20

(C) NaOH + HCI — NaCl + HZO (D) 2Ca+ 02% 2Ca0

Sea and land breezes are caused because of ......................

................................ T AMF ST I T T0RI B ZH |/ . OF G ST AR B Y YR T

(A) Convection (B) Cyclones (C) rains (D) conduction
AT / ifsbeTe gfef qoiz / giefamer <y / gfe SRR / sifeze

When water is cooled it contracts until it reaches ................. and then it starts expanding.

AT 21T PR o T FLPBS T T O ATZS (R Ff ] SE = |

R I QP MFHO T IR ORI T2 27 |

(A) 37°C (B) 40°C (C) 0°C (D) 4°C

Metals combine with oxygen to produce :

419, ARG 157G [T (R ..o TR FE |/ 419, SIFETER AN WeTe 2 .. TN A |

(A) neutral oxide (B) basic oxide (C) acidic oxide (D) amphoteric oxide
O ST TP SHLG [ FITR SHEC IS AHZC TeH SR

Which part of the cactus plants perform photosynthesis ?
(LR G (TG!S AP AL T 2 / (PRT SIEWR (I S ANETF FCHI B 2

(A) leaves (B) spines (C) roots (D) stem
TS / #fTel (86 / PIOI fRiofl/ 31 Ra
The function of hydrochloric acid in the stomachis ..................cccoe.
T Z2T TP Qiges I (T ................ |/ AR 2RUF P QP et &9 ............... |
(A) todigestcarbohydrates (B) to clean the stomach
PIRIRIZCTE A6 1/ FIKRIZCGE AT 1T ATFEICO! AR 1/ AR AT 41
(C) tokillthe germs (D) tobreak down proteins
1< KT B/ Aerle] LT Al o' o Wl / calfbecss el

Which of the following is present in silk fibre ?
SAG < (T SRS G (NGB! AT 2/ 2116 1 s SO Mo (iGN 2
(A) carbohydrate (B) lipids (C) proteins (D) fats
P RIZLE R s & foeT / celifoey 51 / 5




92.

93.

94.

95.

96.

97.

98.

99.

100.

-12 -

Which of the following crops are grown in loamy soil ?

S (FIRY *T (RIS WMo 27 2 / N @ING G- Fifbre 27 2

(A) cereals (B) pulses (C) vegetable (D) Allofthese
Q73 *37y RGO */35/TeTSTO *37 *p-A15fT / ST HIGIECLG! / AT

The respiratory organs in cockroach are ...................

AL Tl SRS (=T ..o |/ ST 7 SRS BT .o |

(A) lungs (B) qills (C) lenticels (D) spiracles
RNE-FIG | T T | ol o / A Ryfew

Pulse beat is measured from ..................

....................... J 2R T =AU (ST B/ ... CCE FATST 794 N[N 2 |

(A) artery (B) nerve (C) vein (D) capillary
Sl Y fora / o T Tl

Sweat contains ...............

K31 — RGN RS [ E— A |

(A) urea (B) sodium chloride (C) water (D) Allofthese
BUEE) PUCHIREE P S| RIPGEE

Which of the following reproduces by budding ?
OO (PO AT YPeTS A<l [F 2 / NEF @A 2T JPeTE RIS =T 2
(A) Fern (B) Yeast (C) Rose (D) Algae
GR / ofe 22 Colio CRETIZ / CoTeT

Which of the following process in the plants is responsible for the release of oxygen ?

TS (PICET IS A1l Sfgen S Y& B 2/ oS (P Al 7191 Sfogn e & 6 2

(A) Respiration (B) Digestion (C) Photosynthesis (D) reproduction
=™ Ao SETIE AT AT

Presence of starch istested by ..................

CISITR GATES ..o < I SR R/ O T ......... B 2] S = |

(A) ammonium chloride (B) iodine (C) hydrochloric acid (D) None of these
@ T T TS RIESC RECENSItIEY «ble 7=
QIR (FRIES SIS USRS GhTe afoe T

Water scarcity is usually foundin ...................

STILRECS AN G .. L2

ST OO HLAD ... 27

(A) desertconditions (B) polarregions in winter (C)only A (D) bothAandB
TP T2ETTO RIS EICESIERCIEERS (T A A =< B Gece 23
EERCIERCEE G HTOFICET AT AL BY A A @3¢ B 162

Allenzymesare .........ccc.......

ST BLETHPR ..o |/ 7o BLETHPE .......oe |

(A) carbohydrates (B) hormones (C) proteins (D) blood platelets
IS FI | = ofbe / carifbel T& el /e bl
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